

County Distribution Detail Report through 12/02/2022

Aurora

7.0									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	903	2,208	19	3,130	\$3,912.50	\$92.26	\$3,820.24	0.70	\$2,674.17
							Entity Tota	al:	\$2,675.05
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,675.05
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	36	36	\$45.00	\$0.00	\$45.00	0.70	\$31.50
9/2022	0	13	0	13	\$16.25	\$0.00	\$16.25	0.70	\$11.38
10/2022	3,112	10,823	345	14,280	\$17,850.00	\$318.90	\$17,531.10	0.70	\$12,271.77
12/2021	0	0	12	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
							Entity Tota	al:	\$12,325.15
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$12,325.15
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	852	1,262	7	2,121	\$2,651.25	\$59.24	\$2,592.01	0.70	\$1,814.41
							Entity Tota	al:	\$1,814.41
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,814.41
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

Lines

9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	1,560	4,299	78	5,937	\$7,421.25	\$150.32	\$7,270.93	0.70	\$5,089.65
							Entity Tot	al:	\$5,090.53
							Adjustme		\$0.00
							Total Amo		\$5,090.53
Brookings									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	24	0	24	\$30.00	\$0.00	\$30.00	0.70	\$21.00
10/2022	10,212	22,885	202	33,299	\$41,623.75	\$860.30	\$40,763.45	0.70	\$28,534.42
							Entity Tot	al:	\$28,555.42
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,555.42
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
9/2022	0	38	0	38	\$47.50	\$0.00	\$47.50	0.70	\$33.25
10/2022	7,863	27,190	912	35,965	\$44,956.25	\$897.54	\$44,058.71	0.70	\$30,841.10
12/2021	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tot	al:	\$30,881.35
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$30,881.35
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
10/2022	2,178	3,842	51	6,071	\$7,588.75	\$149.64	\$7,439.11	0.70	\$5,207.38
							Entity Tot	al:	\$5,210.88
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,210.88
Buffalo									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	513	642	1	1,156	\$1,445.00	\$28.94	\$1,416.06	0.70	\$991.24
							Entity Tota	al:	\$991.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$991.24
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	25	0	25	\$31.25	\$0.00	\$31.25	0.70	\$21.88
10/2022	2,033	6,691	99	8,823	\$11,028.75	\$221.38	\$10,807.37	0.70	\$7,565.16
							Entity Tota	al:	\$7,587.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,587.04
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	612	1,490	19	2,121	\$2,651.25	\$60.19	\$2,591.06	0.70	\$1,813.74
							Entity Tota	al:	\$1,813.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,813.74
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
10/2022	2,321	5,694	45	8,060	\$10,075.00	\$203.94	\$9,871.06	0.70	\$6,909.74
							Entity Tota	al:	\$6,914.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,914.12
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	54	3,064	85	3,203	\$4,003.75	\$77.18	\$3,926.57	0.70	\$2,748.60

							Entity Tota	al:	\$2,748.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,748.60
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	572	3,007	128	3,707	\$4,633.75	\$110.06	\$4,523.69	0.70	\$3,166.58
							Entity Tota	al:	\$3,166.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,166.58
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	1,292	11,660	174	13,126	\$16,407.50	\$306.79	\$16,100.71	0.70	\$11,270.50
							Entity Tota	al:	\$11,270.50
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,270.50
City of Sioux Falls, L	₋incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	178	178	\$222.50	\$0.00	\$222.50	0.70	\$155.75
10/2022	3,993	28,308	2,954	35,255	\$44,068.75	\$835.91	\$43,232.84	0.70	\$30,262.99
							Entity Tota	al:	\$30,418.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$30,418.74
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2022	1,108	2,484	52	3,644	\$4,555.00	\$99.42	\$4,455.58	0.70	\$3,118.91
							Entity Tota	al:	\$3,121.54
							Adjustmer	nt:	\$0.00

Total Amount:

\$3,121.54

\sim	
	av

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2022	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	1,457	8,176	244	9,877	\$12,346.25	\$243.74	\$12,102.51	0.70	\$8,471.76
12/2021	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	al:	\$8,481.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,481.39
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	26	14	2	42	\$52.50	\$0.00	\$52.50	0.70	\$36.75
10/2022	6,005	20,098	563	26,666	\$33,332.50	\$635.22	\$32,697.28	0.70	\$22,888.10
							Entity Tota	al:	\$22,924.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,924.85
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
10/2022	914	1,213	357	2,484	\$3,105.00	\$59.04	\$3,045.96	0.70	\$2,132.17
							Entity Tota	al:	\$2,138.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,138.30
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	2,963	6,421	85	9,469	\$11,836.25	\$265.47	\$11,570.78	0.70	\$8,099.55
							Entity Tota	al:	\$8,100.43

Adjustment:	\$0.00
Total Amount:	\$8 100 <i>4</i> 3

_					
11	ıa۱	1/1	c	n	r
_	ď	v ı		u	

Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
10/2022	4,132	14,650	507	19,289	\$24,111.25	\$459.02	\$23,652.23	0.70	\$16,556.56
							Entity Tota	al:	\$16,560.06
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$16,560.06
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	1,711	3,635	138	5,484	\$6,855.00	\$137.89	\$6,717.11	0.70	\$4,701.98
							Entity Tota	al:	\$4,702.86
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,702.86
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
10/2022	1,397	3,060	112	4,569	\$5,711.25	\$121.78	\$5,589.47	0.70	\$3,912.63
							Entity T		\$3,918.76 \$0.00
							Total A		\$3,918.76

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	1,059	2,213	12	3,284	\$4,105.00	\$85.29	\$4,019.71	0.70	\$2,813.80

\$2,815.55 **Entity Total:**

\$0.00 Adjustment:

Total Amount:	\$2,815.55

		 		_
$-\alpha$	m	n	n	c

Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	1,080	3,138	58	4,276	\$5,345.00	\$105.50	\$5,239.50	0.70	\$3,667.65
							Entity Tota	l:	\$3,669.40
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,669.40
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2022	2,632	4,791	37	7,460	\$9,325.00	\$191.93	\$9,133.07	0.70	\$6,393.15
							Entity Tota	l:	\$6,395.78
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,395.78
Faulk									
Faulk Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$2,852.50	Admin Fee \$58.23	Net Surcharge \$2,794.27	_	Entity Amount \$1,955.99
Reporting Period			Lines					Percent 0.70	
Reporting Period			Lines				\$2,794.27	Percent 0.70	\$1,955.99
Reporting Period			Lines				\$2,794.27 Entity Tota	Percent 0.70 II:	\$1,955.99 \$1,955.99
Reporting Period			Lines				\$2,794.27 Entity Tota Adjustmen	Percent 0.70 II:	\$1,955.99 \$1,955.99 \$0.00
Reporting Period 10/2022			Lines				\$2,794.27 Entity Tota Adjustmen	Percent 0.70 II:	\$1,955.99 \$1,955.99 \$0.00
Reporting Period 10/2022 Grant	661	1,594	Lines 27 VOIP	2,282	\$2,852.50	\$58.23	\$2,794.27 Entity Tota Adjustmen Total Amou	Percent 0.70 al: t: unt: Entity	\$1,955.99 \$1,955.99 \$0.00 \$1,955.99
Reporting Period 10/2022 Grant Reporting Period	661 Telecom Lines	1,594 Wireless Lines	VOIP Lines	2,282 Total Lines	\$2,852.50 Surcharge	\$58.23	\$2,794.27 Entity Total Adjustmen Total Amou	Percent 0.70 II: t: unt: Entity Percent	\$1,955.99 \$1,955.99 \$0.00 \$1,955.99 Entity Amount
Reporting Period 10/2022 Grant Reporting Period 9/2022	Telecom Lines	1,594 Wireless Lines	VOIP Lines	2,282 Total Lines	\$2,852.50 Surcharge \$11.25	\$58.23 Admin Fee \$0.00	\$2,794.27 Entity Total Adjustmen Total Amou	Percent 0.70 II: t: Entity Percent 0.70 0.70	\$1,955.99 \$1,955.99 \$0.00 \$1,955.99 Entity Amount \$7.88
Reporting Period 10/2022 Grant Reporting Period 9/2022	Telecom Lines	1,594 Wireless Lines	VOIP Lines	2,282 Total Lines	\$2,852.50 Surcharge \$11.25	\$58.23 Admin Fee \$0.00	\$2,794.27 Entity Total Adjustmen Total Amou	Percent 0.70 II: t: Entity Percent 0.70 0.70	\$1,955.99 \$1,955.99 \$0.00 \$1,955.99 Entity Amount \$7.88 \$6,292.46

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
10/2022	1,468	3,569	6	5,043	\$6,303.75	\$147.13	\$6,156.62	0.70	\$4,309.63
							Entity Tota	al:	\$4,313.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,313.13
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	901	1,407	7	2,315	\$2,893.75	\$58.83	\$2,834.92	0.70	\$1,984.44
							Entity Tota	al:	\$1,984.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,984.44
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	17	0	17	\$21.25	\$0.00	\$21.25	0.70	\$14.88
10/2022	1,343	3,993	66	5,402	\$6,752.50	\$137.27	\$6,615.23	0.70	\$4,630.66
							Entity Tota	al:	\$4,645.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,645.54
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
10/2022	930	2,688	39	3,657	\$4,571.25	\$88.23	\$4,483.02	0.70	\$3,138.11
							Entity Tota	al:	\$3,145.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,145.11
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	739	3,146	82	3,967	\$4,958.75	\$109.53	\$4,849.22	0.70	\$3,394.45
							Entity Tota	al:	\$3,396.20
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,396.20
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	618	900	1	1,519	\$1,898.75	\$48.38	\$1,850.37	0.70	\$1,295.26
							Entity Total	al:	\$1,297.01
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,297.01
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	19	0	19	\$23.75	\$0.00	\$23.75	0.70	\$16.63
10/2022	2,352	3,266	171	5,789	\$7,236.25	\$134.78	\$7,101.47	0.70	\$4,971.03
							Entity Total	al:	\$4,987.66
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,987.66
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	9	0	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88
10/2022	2,448	5,222	41	7,711	\$9,638.75	\$209.21	\$9,429.54	0.70	\$6,600.68
							Entity Total	al:	\$6,608.56
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,608.56
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	569	1,113	13	1,695	\$2,118.75	\$42.85	\$2,075.90	0.70	\$1,453.13

							Adjustment:		\$0.00
							Total Amo	unt:	\$1,453.13
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	553	842	8	1,403	\$1,753.75	\$35.39	\$1,718.36	0.70	\$1,202.85
							Entity Tota	al:	\$1,204.60
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,204.60
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	724	1,391	15	2,130	\$2,662.50	\$53.68	\$2,608.82	0.70	\$1,826.17
							Entity Tota	al:	\$1,827.05
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,827.05
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	470	720	7	1,197	\$1,496.25	\$31.29	\$1,464.96	0.70	\$1,025.47
							Entity Tota	al:	\$1,027.22
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,027.22
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2022	977	4,022	119	5,118	\$6,397.50	\$143.82	\$6,253.68	0.70	\$4,377.58

Entity Total:

\$1,453.13

							Entity Tota	al:	\$4,380.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,380.21
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
10/2022	2,283	9,191	174	11,648	\$14,560.00	\$302.64	\$14,257.36	0.70	\$9,980.15
							Entity Tota	al:	\$9,990.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$9,990.65
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	20	20	\$25.00	\$0.00	\$25.00	0.70	\$17.50
9/2022	0	43	0	43	\$53.75	\$0.00	\$53.75	0.70	\$37.63
10/2022	6,479	18,717	324	25,520	\$31,900.00	\$602.84	\$31,297.16	0.70	\$21,908.01
							Entity Tota	al:	\$21,963.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,963.14
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
			Lille2					Fercent	
6/2021	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75

6/2022 0 0 9 9 \$11.25 \$0.00 \$11.25 0.70 \$7.88 9/2022 90 81 171 \$213.75 \$0.00 \$213.75 0.70 \$149.63 0 10/2022 3,266 25,702 31,333 \$39,166.25 \$38,311.19 0.70 \$26,817.83 2,365 \$855.06 \$10.00 \$0.00 \$7.00 12/2021 0 0 8 \$10.00 0.70 8

	Adjustment:	\$0.00
	Total Amount:	\$26,984.09
Lyman		

Entity Total:

\$26,984.09

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
reporting renou	relection Enles	Wilciess Lines	Lines	rotal Ellics	Guitinarge	Adminited	Net Garenarge	Percent	Littly Amount

9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	984	1,865	395	3,244	\$4,055.00	\$85.88	\$3,969.12	0.70	\$2,778.38
							Entity Tota	al:	\$2,779.26
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$2,779.26
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	1,325	3,036	80	4,441	\$5,551.25	\$125.79	\$5,425.46	0.70	\$3,797.82
							Entity Tota	al:	\$3,797.82
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$3,797.82
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
10/2022	1,661	4,354	21	6,036	\$7,545.00	\$155.22	\$7,389.78	0.70	\$5,172.85
							Entity Tota	al:	\$5,177.23
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$5,177.23
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
10/2022	852	1,585	11	2,448	\$3,060.00	\$74.31	\$2,985.69	0.70	\$2,089.98
							Entity Tota	al:	\$2,094.36
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$2,094.36
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	38	0	38	\$47.50	\$0.00	\$47.50	0.70	\$33.25
10/2022	2,808	19,570	448	22,826	\$28,532.50	\$576.54	\$27,955.96	0.70	\$19,569.17

							Entity Tota Adjustmer Total Amo	nt:	\$19,602.42 \$0.00 \$19,602.42
Mellette							Total Amo	unt.	Ψ13,002. 4 2
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	525	742	6	1,273	\$1,591.25	\$32.13	\$1,559.12	0.70	\$1,091.38
							Entity Tota	al:	\$1,091.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,091.38
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	893	1,710	10	2,613	\$3,266.25	\$67.68	\$3,198.57	0.70	\$2,239.00
							Entity Tota	al:	\$2,239.00
							Adjustmer	nt:	\$0.00
							Total Amo	ıınt.	\$2,239.00
							Total Amo	unt.	\$2,239.00
Minnehaha							Total Allio	unt.	\$2,239.00
Minnehaha Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	\$2,239.00 Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$45.00	Admin Fee \$0.00		Entity	
Reporting Period			Lines		_		Net Surcharge	Entity Percent	Entity Amount
Reporting Period	0	0	Lines 36	36	\$45.00	\$0.00	Net Surcharge \$45.00	Entity Percent 0.70	Entity Amount \$31.50
Reporting Period 6/2022 9/2022	0 19	0 172	Lines 36 3	36 194	\$45.00 \$242.50	\$0.00 \$0.00	Net Surcharge \$45.00 \$242.50	Entity Percent 0.70 0.70	Entity Amount \$31.50 \$169.75
Reporting Period 6/2022 9/2022 10/2022	0 19 40,804	0 172 161,349	36 3 9,244	36 194 211,397	\$45.00 \$242.50 \$264,246.25	\$0.00 \$0.00 \$5,075.33	Net Surcharge \$45.00 \$242.50 \$259,170.92	Entity Percent 0.70 0.70 0.70 0.70	\$31.50 \$169.75 \$181,419.64
Reporting Period 6/2022 9/2022 10/2022	0 19 40,804	0 172 161,349	36 3 9,244	36 194 211,397	\$45.00 \$242.50 \$264,246.25	\$0.00 \$0.00 \$5,075.33	\$45.00 \$242.50 \$259,170.92 \$15.00	Entity Percent 0.70 0.70 0.70 0.70 0.70	\$31.50 \$169.75 \$181,419.64 \$10.50
Reporting Period 6/2022 9/2022 10/2022	0 19 40,804	0 172 161,349	36 3 9,244	36 194 211,397	\$45.00 \$242.50 \$264,246.25	\$0.00 \$0.00 \$5,075.33	\$45.00 \$242.50 \$259,170.92 \$15.00 Entity Tota	Entity Percent 0.70 0.70 0.70 0.70 0.70	\$31.50 \$169.75 \$181,419.64 \$10.50 \$181,631.39
Reporting Period 6/2022 9/2022 10/2022	0 19 40,804	0 172 161,349	36 3 9,244	36 194 211,397	\$45.00 \$242.50 \$264,246.25	\$0.00 \$0.00 \$5,075.33	\$45.00 \$242.50 \$259,170.92 \$15.00 Entity Total	Entity Percent 0.70 0.70 0.70 0.70 0.70	\$31.50 \$169.75 \$181,419.64 \$10.50 \$181,631.39 \$0.00
Reporting Period 6/2022 9/2022 10/2022 12/2021	0 19 40,804	0 172 161,349	36 3 9,244	36 194 211,397	\$45.00 \$242.50 \$264,246.25	\$0.00 \$0.00 \$5,075.33	\$45.00 \$242.50 \$259,170.92 \$15.00 Entity Total	Entity Percent 0.70 0.70 0.70 0.70 0.70	\$31.50 \$169.75 \$181,419.64 \$10.50 \$181,631.39 \$0.00
Reporting Period 6/2022 9/2022 10/2022 12/2021 Moody	0 19 40,804 0	0 172 161,349 0	36 3 9,244 12 VOIP	36 194 211,397 12	\$45.00 \$242.50 \$264,246.25 \$15.00	\$0.00 \$0.00 \$5,075.33 \$0.00	\$45.00 \$242.50 \$259,170.92 \$15.00 Entity Total Adjustmen	Entity Percent 0.70 0.70 0.70 0.70 al: ht: unt:	\$31.50 \$169.75 \$181,419.64 \$10.50 \$181,631.39 \$0.00 \$181,631.39
Reporting Period 6/2022 9/2022 10/2022 12/2021 Moody Reporting Period	0 19 40,804 0	0 172 161,349 0 Wireless Lines	36 3 9,244 12 VOIP Lines	36 194 211,397 12 Total Lines	\$45.00 \$242.50 \$264,246.25 \$15.00 Surcharge	\$0.00 \$0.00 \$5,075.33 \$0.00	Net Surcharge \$45.00 \$242.50 \$259,170.92 \$15.00 Entity Tota Adjustmer Total Amo	Entity Percent 0.70 0.70 0.70 0.70 al: t: unt: Entity Percent	\$31.50 \$169.75 \$181,419.64 \$10.50 \$181,631.39 \$0.00 \$181,631.39

							Entity Tota	al:	\$5,086.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,086.62
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	96	96	\$120.00	\$0.00	\$120.00	0.70	\$84.00
9/2022	0	133	0	133	\$166.25	\$0.00	\$166.25	0.70	\$116.38
10/2022	21,382	88,578	2,649	112,609	\$140,761.25	\$2,744.50	\$138,016.75	0.70	\$96,611.73
							Entity Tota	al:	\$96,812.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$96,812.11
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	1,573	2,342	12	3,927	\$4,908.75	\$109.45	\$4,799.30	0.70	\$3,359.51
							Entity Tota	al:	\$3,360.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,360.39
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2022	977	1,994	14	2,985	\$3,731.25	\$75.26	\$3,655.99	0.70	\$2,559.19
							Entity Tota	al:	\$2,560.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,560.94
loberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022 10/2022 Potter Reporting Period 9/2022 10/2022	Telecom Lines 0 977	2,342 Wireless Lines 2 1,994	VOIP Lines 0 14	3,927 Total Lines 2 2,985	\$4,908.75 Surcharge \$2.50 \$3,731.25	\$109.45 Admin Fee \$0.00 \$75.26	\$1.25 \$4,799.30 Entity Tota Adjustmen Total Amo Net Surcharge \$2.50 \$3,655.99 Entity Tota Adjustmen Total Amo	0.70 0.70 al: nt: unt: Entity Percent 0.70 0.70 al: nt: unt:	\$3,36 \$3,366 \$3,366 Entity Am \$2,56 \$2,566

10/2022	2,955	5,269	51	8,275	\$10,343.75	\$232.08	\$10,111.67	0.70	\$7,078.17
							Entity Tota	al:	\$7,088.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,088.67
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	691	1,828	52	2,571	\$3,213.75	\$65.22	\$3,148.53	0.70	\$2,203.97
							Entity Tota	al:	\$2,204.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,204.85
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2022	1,550	4,651	95	6,296	\$7,870.00	\$150.67	\$7,719.33	0.70	\$5,403.53
							Entity Tota	al:	\$5,404.41
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,404.41
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	618	2,287	70	2,975	\$3,718.75	\$66.02	\$3,652.73	0.70	\$2,556.91
							Entity Tota	al:	\$2,556.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,556.91
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	543	1,220	2	1,765	\$2,206.25	\$44.17	\$2,162.08	0.70	\$1,513.46
							Entity Tota	al:	\$1,513.46

Adjustment:	\$0.00
Total Amount:	\$1,513.46

Entity Total:

\$12,638.31

_		-	_
-	-	_	_

Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
10/2022	0	111	1	112	\$140.00	\$14.19	\$125.81	0.70	\$88.07
							Entity Tot	al:	\$91.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$91.57
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
10/2022	2,001	4,112	45	6,158	\$7,697.50	\$160.01	\$7,537.49	0.70	\$5,276.24
							Entity Tot	al:	\$5,282.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,282.37
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
10/2022	1,771	6,664	88	8,523	\$10,653.75	\$218.13	\$10,435.62	0.70	\$7,304.93
							Entity Tot	al:	\$7,315.43
							Adjustment:		\$0.00
							Total Amount:		\$7,315.43
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2022	0	0	15	15	\$18.75	\$0.00	\$18.75	0.70	\$13.13
9/2022	0	14	0	14	\$17.50	\$0.00	\$17.50	0.70	\$12.25
10/2022	2,285	11,617	865	14,767	\$18,458.75	\$440.28	\$18,018.47	0.70	\$12,612.93

Adjustment: \$0.00

Total Amount: \$12,638.31

Walworth	1
----------	---

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
10/2022	1,619	3,714	404	5,737	\$7,171.25	\$147.29	\$7,023.96	0.70	\$4,916.77
							Entity Total:		\$4,922.02
							Adjustment:		\$0.00
							Total Amount:		\$4,922.02
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
10/2022	4,222	17,260	578	22,060	\$27,575.00	\$517.43	\$27,057.57	0.70	\$18,940.30
							Entity Total:		\$18,945.55
							Adjustment:		\$0.00
							Total Amount:		\$18,945.55
TOTALS	184,155	647,413	26,624	858,192	\$1,072,740.00	\$21,379.06	\$1,051,360.94		